## The Moray Council - Local Government Elections 2012 Detailed Election Results Ward 6 - Elgin City North

## Page 2 **Declaration of Results**

includes information on the stage a candidate was elected, turnout and spoilt ballot papers

## Page 3 STV Election Result

includes overview of information showing preferences, transfer values, non-transferable papers number of vacancies and quota to be achieved to be elected

## Page 4 **Turnout**

Shows turnout in the ward compared to the other wards in the Moray Council at the same election

## Page 5 **Preference Summary**

Shows the number of preferences by candidate at each stage, total for the ward Further breakdown of this information to Ballot Box level is available from the Elections Results page

## Page 6 First Preference

Shows the number of first preferences that each candidate achieved

## Page 7 Transfers

Shows the transfers made at each stage to each candidate, and the value of the transfers

## Declaration of Results Ward 6 - Elgin City North Date of Poll - 3 May 2012

I declare that the result of the election in the Elgin City North Ward is as follows.

There are 3 councillors to be elected.

The percentage poll was 30.6%. There were 2566 valid papers and 31 rejected papers.

The guota of votes for a candidate to be elected is 642.

The first preference votes received by each of the candidates and the stage at which any candidate was elected is as:

Name of Candidate	Number of First Preference Votes	Stage at which candidate has been elected
Frank BROWN	448	
Patsy GOWANS	515	5
Barry Alexander JARVIS	766	1
Darren MARGACH	241	
Mike SHAND	596	3

Of the total ballot papers, the following were rejected as void and not counted on account of:

Adjudication Reject Reason	Number
Which does not bear a unique identifying mark in a form that is capable of being read by electronic means;	0
On which the figure "1" standing alone is not placed so as to indicate a first preference for some candidate	29
On which the figure "1" standing alone indicating a first preference is set opposite the name of more than one candidate	0
On which anything is written or marked by which the voter can be identified except the printed number and other unique identifying mark on the back	0
Which is unmarked or void for uncertainty	2
Total number of ballot papers rejected	31

Mark Palmer **Returning Officer** The Moray Council Date 04/05/2012

Election Results Ward 6 - Elgin City North Date of Poll - 3 May 2012

Total Number of Ballots	2597
Total Number of Valid Votes	2566
Number of Vacancies	3
Quota	642

Name of Candidate	Party	Stage 1 1st pref votes	Surplus of Barry Alexander JARVIS	Stage 2	Exclusion of Darren MARGACH	Stage 3	Surplus of Mike SHAND	Stage 4	Exclusion of Frank BROWN	Stage 5	
Frank BROWN	Scottish Conservative and Unionist	448	18.93879	466.93879	98.84529	565.78408	0.53464	566.31872	-566.31872	0.00000	
Patsy GOWANS	Scottish National Party (SNP)	515	11.97838	526.97838	23.42805	550.40643	16.38602	566.79245	121.46950	688.26195	Elected
Barry Alexander JARVIS	Scottish Labour Party	992	-124.00000	642.00000	0.00000	642.00000	0.00000	642.00000	0.00000	642.00000 <b>Elected</b>	Elected
Darren MARGACH	Independent	241	33.18335	274.18335	-274.18335	0.0000.0					
Mike SHAND	Scottish National Party (SNP)	969	16.51074	612.51074	49.20862	661.71936	-19.71936	642.00000	0.00000	642.00000 Elected	Elected
Non-transferable votes		0	43.38874	43.38874	102.70139	146.09013	2.79870	148.88883	444.84922	593.73805	
Total		2566	Ш	2566.00000	Ш	2566.00000	=	2566.00000	ш	2566.00000	

## Percentage Turnout Report Date of Poll - 3 May 2012

Percentage turnout for all contests with registration complete

Contest Name	Percentage Turnout
Speyside Glenlivet Ward	
Keith and Cullen Ward	
Buckie Ward	
Fochabers Lhanbryde Ward	
Heldon and Laich Ward	
Elgin City North Ward	30.60%
Elgin City South Ward	34.18%
Forres Ward	33.16%
Overall Percentage Turnout	13.35%

# LOCAL GOVERNMENT ELECTIONS 2012 Preference Summary Report Ward 6 - Elgin City North Date of Poll - 3 May 2012

Total Number of	
Valid Ballots	2566
Quota	642
Percentage Turnout	30.6

		Quota	240		
		Percentage Turnout	30.6		
	-				
	Number of 1st	Number of 2nd	Number of 3rd	Number of 4th	Number of 5th
	preference votes for	erence votes for preference votes for preference votes for preference votes for preference votes	preference votes for	preference votes for	preference votes
Candidate Naleach	each candidate	each candidate	each candidate	each candidate	each candidate
Frank BROWN	448	202	168	29	180
Patsy GOWAN	515	909	144	66	47
Barry Alexande	992	251	335	96	43
Darren MARGA	241	421	344	148	72
Mike SHAND	296	572	182	29	64

## LOCAL GOVERNMENT ELECTIONS 2012 First Preference Report Ward 6 - Elgin City North Date of Poll - 3 May 2012

Electorate	8486	
Total Number of Ballots Received	2597	
Percentage Turnout	30.60%	

Total Number of Valid Votes	2566
Quota	642

Candidate Name	Number of 1st Preference Votes
Frank BROWN	448
Patsy GOWANS	515
Barry Alexander JARVIS	766
Darren MARGACH	241
Mike SHAND	596

## Transfers Report Ward 6 - Elgin City North Date of Poll - 3 May 2012

Valid Ballots	2566
Positions to be Filled	3
Quota	642

Stage 1	First Preferences
Frank BROWN	448
Patsy GOWANS	515
Barry Alexander JARVIS	766
Darren MARGACH	241
Mike SHAND	596

## Barry Alexander JARVIS Elected with 766 over quota 642

Stage 2 - Surplus of Barry Alexander JARVIS Action **Total Votes** Transfer Weight Transfer Value Transfer to Frank BROWN 18.93879 117 0.16187 Transfer to Patsy GOWANS 74 0.16187 11.97838 Transfer to Darren MARGACH 205 0.16187 33.18335 Transfer to Mike SHAND 102 0.16187 16.51074 Non-transferables 43.38874

Stage 3 - Exclusion of Darren MARGACH			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Frank BROWN	67	0.16187	10.84529
Transfer to Frank BROWN	88	1	88
Transfer to Patsy GOWANS	15	0.16187	2.42805
Transfer to Patsy GOWANS	21	1	21
Transfer to Mike SHAND	26	0.16187	4.20862
Transfer to Mike SHAND	45	1	45
Non-transferables	102.70139		

Stage 4 - Surplus of Mike SHAND			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Frank BROWN	12	0.00482	0.05784
Transfer to Frank BROWN	16	0.0298	0.4768
Transfer to Patsy GOWANS	61	0.00482	0.29402
Transfer to Patsy GOWANS	540	0.0298	16.092
Non-transferables	2.7987		

Stage 5 - Exclusion of Frank BROWN			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Patsy GOWANS	10	0.00482	0.0482
Transfer to Patsy GOWANS	11	0.0298	0.3278
Transfer to Patsy GOWANS	50	0.16187	8.0935
Transfer to Patsy GOWANS	113	1	113
Non-transferables	444.84922		